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(b) v(x) = (2 ,5 , 17 ,
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vx=k = T2-6I
=
# accel= a = <0 . - 6L46
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v(o) = (20 ,
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so ball misses man (by 9 inches
# F = yeXY
(a) +x = yexy , fy = e*+xyey ,

+xx= ye* 1 +xxy = 3ye
+
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(b)(f = [y2e*Y, e*Y + yye
*77
,

8 f(0 ,3) = 79 , 17
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(b) =x - y
= 0 ; 09 = (2x , - 1 , 1)

levelsurface &q(2 , + 1 ,- 3) = <4 , -1)
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(a) lim
(x.4) + (1 .3) 936
[b Im (x2)(3x+22 = 11m (3x +2y) = 12
(x,y)
+(2 ,3) 3xx2

# z - xz + xy
= 5

(a) %x : zx - z - 3zxzy +y
= 0 =
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.
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%y : zy - 3Exzy + X= 0 =

↳ En=x((213 . 11 := E
(b)

16y: yy
- 6zx(zy) - 3Exzyy = 0 =>
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